
O−
8 (3).23 (mod 2)

blocks defect matrix

G : 1 11 77× 9
2 7 19× 3
3 3 5× 1
4 3 5× 1
5 0 9318401 = χ89+, ϕ22+

blocks defect matrix

6 0 9318402 = χ91+, ϕ24+

7 0 9318403 = χ93+, ϕ26+

8 0 9318404 = χ95+, ϕ28+

9 0 9318405 = χ97+, ϕ30+

10 3 8× 1



Block 1: ϕ1,0 ϕ2,0 ϕ3+ ϕ5+ ϕ7,0 ϕ8,0 ϕ9+ ϕ11+ ϕ18+

11 = χ1,0 1 . . . . . . . .
12 = χ1,1 1 . . . . . . . .

2461 = χ2,0 . 1 . . . . . . .
2462 = χ2,1 . 1 . . . . . . .
5741 = χ3+ 2 . 1 . . . . . .
10661 = χ5+ 2 2 1 . . . . . .
5742 = χ7,0 2 . 1 . . . . . .
5743 = χ7,1 2 . 1 . . . . . .
8191 = χ8,0 1 1 1 . . . . . .
8192 = χ8,1 1 1 1 . . . . . .
74621 = χ9+ 2 2 2 1 . . . . .
77491 = χ11,0 1 . . . . 1 . . .
77492 = χ11,1 1 . . . . 1 . . .
77493 = χ12,0 1 . 1 . 1 . . . .
77494 = χ12,1 1 . 1 . 1 . . . .
223861 = χ13+ 2 2 1 1 . 2 . . .
223862 = χ15+ 2 2 3 1 2 . . . .
143911 = χ17,0 1 1 1 1 . 1 . . .
143912 = χ17,1 1 1 1 1 . 1 . . .
143913 = χ18,0 1 1 2 1 1 . . . .
143914 = χ18,1 1 1 2 1 1 . . . .
149241 = χ19,0 . . . . 1 1 . . .
149242 = χ19,1 . . . . 1 1 . . .
298481 = χ20+ . . . . . . 1 . .
213201 = χ22,0 . . . 1 . 2 . . .
213202 = χ22,1 . . . 1 . 2 . . .
223863 = χ23,0 2 2 2 1 1 1 . . .
223864 = χ23,1 2 2 2 1 1 1 . . .
223865 = χ24,0 2 2 3 1 2 . . . .
223866 = χ24,1 2 2 3 1 2 . . . .
516601 = χ25+ . 2 2 1 2 . 1 . .
671581 = χ27+ 2 2 2 1 2 2 1 . .
671582 = χ29+ 2 2 4 1 4 . 1 . .
746201 = χ31+ 4 4 6 2 4 . 1 . .
447721 = χ33,0 . . . . 1 1 1 . .
447722 = χ33,1 . . . . 1 1 1 . .
959401 = χ34+ 4 4 6 3 4 2 1 . .
516602 = χ36,0 . 2 2 1 2 . 1 . .
516603 = χ36,1 . 2 2 1 2 . 1 . .
596961 = χ37,0 . . . . 2 2 1 . .



(Block 1:) ϕ1,0 ϕ2,0 ϕ3+ ϕ5+ ϕ7,0 ϕ8,0 ϕ9+ ϕ11+ ϕ18+

596962 = χ37,1 . . . . 2 2 1 . .
663391 = χ40,0 1 1 2 1 3 1 1 . .
663392 = χ40,1 1 1 2 1 3 1 1 . .
1492401 = χ41+ . . . 1 2 2 . 1 .
2014741 = χ43+ 2 2 3 2 4 2 1 1 .
2014742 = χ45+ 2 2 5 2 6 . 1 1 .
1279201 = χ51,0 . . . . 2 . . 1 .
1279202 = χ51,1 . . . . 2 . . 1 .
1343161 = χ52,0 . . . 1 1 1 . 1 .
1343162 = χ52,1 . . . 1 1 1 . 1 .
2686321 = χ53+ . . . . . . 1 . 1
1793341 = χ59,0 . 1 2 1 4 . 1 1 .
1793342 = χ59,1 . 1 2 1 4 . 1 1 .
2014743 = χ60,0 2 2 4 2 5 1 1 1 .
2014744 = χ60,1 2 2 4 2 5 1 1 1 .
2014745 = χ61,0 2 2 3 2 4 2 1 1 .
2014746 = χ61,1 2 2 3 2 4 2 1 1 .
4184461 = χ62+ 2 . 1 1 2 2 1 1 1
2238601 = χ64,0 4 4 6 3 6 2 1 1 .
2238602 = χ64,1 4 4 6 3 6 2 1 1 .
4477201 = χ65+ . . . 1 2 2 2 1 1
5969601 = χ69+ . . . 2 4 4 2 2 1
6044221 = χ71+ 2 2 4 3 6 2 2 2 1
6715801 = χ73+ 4 4 6 4 8 4 3 2 1
7771141 = χ85+ 2 2 5 3 10 2 3 3 1
4029481 = χ87,0 . . . 1 1 1 1 1 1
4029482 = χ87,1 . . . 1 1 1 1 1 1
4184462 = χ88,0 2 . 1 1 2 2 1 1 1
4184463 = χ88,1 2 . 1 1 2 2 1 1 1
5314411 = χ103,0 1 . 1 1 3 1 1 2 1
5314412 = χ103,1 1 . 1 1 3 1 1 2 1
5372641 = χ104,0 . . . 2 2 2 1 2 1
5372642 = χ104,1 . . . 2 2 2 1 2 1
5756401 = χ107,0 . . . 1 4 2 2 2 1
5756402 = χ107,1 . . . 1 4 2 2 2 1
5969602 = χ108,0 . . . 2 4 4 2 2 1
5969603 = χ108,1 . . . 2 4 4 2 2 1

ϕ1,0 = 11
ϕ2,0 = 2461
ϕ3+ = 5721
ϕ5+ = 58241
ϕ7,0 = 71761

ϕ8,0 = 77481
ϕ9+ = 298481
ϕ11+ = 1135681
ϕ18+ = 2387843



Block 2: ϕ13,0 ϕ14+ ϕ16+

596963 = χ38,0 1 . .
596964 = χ38,1 1 . .
596965 = χ39,0 1 . .
596966 = χ39,1 1 . .
2387841 = χ47+ . 1 .
2387842 = χ49+ . . 1
3581761 = χ55+ 2 . 1
3581762 = χ57+ 2 . 1
2387843 = χ67,0 . 1 .
2387844 = χ67,1 . 1 .
2387845 = χ68,0 . 1 .
2387846 = χ68,1 . 1 .
7163521 = χ75+ . 2 1
9551361 = χ99+ 4 1 2
9551362 = χ101+ . 2 2
5372643 = χ105,0 1 1 1
5372644 = χ105,1 1 1 1
5372645 = χ106,0 1 1 1
5372646 = χ106,1 1 1 1

ϕ13,0 = 596961
ϕ14+ = 2387841
ϕ16+ = 2387842

Block 3: ϕ20,0

3673601 = χ77,0 1
3673602 = χ77,1 1
3673605 = χ79,0 1
3673606 = χ79,1 1
7347201 = χ81+ 2

ϕ20,0 = 3673601

Block 4: ϕ21,0

3673603 = χ78,0 1
3673604 = χ78,1 1
3673607 = χ80,0 1
3673608 = χ80,1 1
7347202 = χ82+ 2

ϕ21,0 = 3673602



Block 10: ϕ32,0

6822401 = χ109,0 1
6822402 = χ109,1 1
6822403 = χ110,0 1
6822404 = χ110,1 1
6822405 = χ111,0 1
6822406 = χ111,1 1
6822407 = χ112,0 1
6822408 = χ112,1 1

ϕ32,0 = 6822401


